Gold: Use the array sheet. Gold

Array of 20 x 5
® What is 19 x 52 Can you use rounding to estimate the answer?
® Will the exact answer be more or less than 100?

® How much less?

®Now look at your array 20x5. How many dots there are? Bebvis

Rusoancy Shear 3%
Multiplying by 2, 4,5 and & (1)

® How many dots would there be if there were only 19 rows?

Match tha caloulotion o the answee. L

® How many fewer dots.

® How many dots would be in 30 rows of 32 and in 29 rows of 32 % :—“
® Multiply 19 by 3, 4, 5 and 8 in turn (by multiplying by 20 and then adjusting). Y ;'__'_"__';-{__'_'_'_-_-,-:
: - -

® Extend to multiplying 29 by 3, 4, 5and 8 in turn.

® Do not use the grid method to work these out. 2 =y
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® Explain how you worked out your answers.

® Extra challenge: Silver
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Multiplying by 3. 4, 5 and & (2) i
I
Match the colculation t the answer, Use rounding |
to estimate, than check using the grid method. H

® Can you multiply 39 by 3, 4,5 or 82 What is 39 x 8?
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First you use rounding to estimate, then use the grid method to work out the actual answers and draw lines to S e
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join up each question with its answer. Compare the estimates to the actual answers. How close were the SaE> CE o
estimates? : iy

wer. Usa raunding
10 estimate, then theck using the grid method.



